Use the map above to decide the correct answers. Then underline the correct answers.
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The land north of A is (a wetland), (a desert), (mountainous).
The mouth of a river is located near letter (A), (B), (C).

The city at D is perhaps a (capital), (seaport), (mining town).
The river flows (from southwest to northeast), (from northeast to southwest),
(from east to west).

An island is marked by the letter (A), (B), (F).

A railroad runs between (B and C), (D and B), (D and C).
The letter E marks (a bay), (a peninsula), (an island).

A peninsula is shown on this map at (B), (G), (C).

A delta might be found just north of (C), (A), (B).

The letter G is due north of (C), (A), (B).




